
'HOW TO'

Calculating the Cost of Childcare:
Local analysis for the briefing on 
Access to Childcare

Our national briefing on Access to Childcare has been produced as part of the 
Local Data Project.

Here we want to show you how to tailor the key information in the briefing to 
your local area. NOTE: this explainer will work on the data for Great Britain. 
For links to the data on Northern Ireland, go to the end of this document.

You can find the national briefing and the template for your own local 
analysis on the Local Data Project website by clicking here.

Let's work through the different parts together.

What to expect

To calculate affordability, we will compare the cost of childcare to the 
amount of money that women earn. This is not because we think 
childcare should be paid for completely out of women’s pockets, but 
we know that in reality many couple’s financial decisions are made by 
checking if it’s financially worth it for women to remain in their jobs.

www.wbg.org.uk/ldp/briefings/


 

June 2021 

First, let’s find out how much childcare costs in Great Britain. We can find that information here. Scroll down 
the page, and click on ‘Download report’ 

 

When we open it, the report will look like this. 

 

We will use the tables on page 11, where we can find the information on part-time childcare costs for two-
year-olds and children under two, and page 12, where the costs for full-time childcare are given for the 
same ages. We want to use both so that we can compare the costs for mothers working full-time and 
mothers working part-time. 

The tables look like this:  

 

Coram have been doing a 
childcare survey for many 
years, and they explain their 
methodology clearly, a good 
sign of a reputable source. 

 

https://www.familyandchildcaretrust.org/childcare-survey-2021-0
https://www.familyandchildcaretrust.org/
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Let’s go into more detail… 

We could calculate the cost of childcare for each different type of provision. However, we’ll use nursery 
costs as this is the type of childcare provision that is the most used (according to Ofsted data). 

 

Let’s look at Great Britain. We’re going to use the cost for under twos.  

 

The weekly cost can be useful for budgeting, but we want the yearly cost. That’s because we will be 
comparing to yearly salaries, and we need to compare like for like. So, £137.69 x 52 = £7,160. 

Now for the average full-time cost. 

 

£263.81 x 52 = £13,718. 

 

 

 

What are the full-time and part-time childcare costs in your region? Remember to calculate the yearly rate! 

F/T  

P/T  

Note: although some people may 
not need childcare all year round, we 
have used the maximum amount (52 
weeks) for comparison purposes. 
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Now let’s find the earnings data. 

 

First, we need to find the correct dataset for women’s earnings. We can find that here. 

 

 

One point about this dataset: as we are comparing like for like, we need to compare the same year’s 
earnings as childcare costs. 

 

 

When it downloads, we will need to unzip the file. This is normally automatic when we double click on the 
folder. 

https://www.ons.gov.uk/employmentandlabourmarket/peopleinwork/earningsandworkinghours/datasets/placeofworkbylocalauthorityashetable7
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We will be greeted by a morass of files. Don’t worry! We want to look at annual pay as this tends to give a 
more stable picture of earnings. For that, we need table 7, so open 7.7a. (7.7b just gives information on the 
methodology, which we don’t need to look at.) 

 

If you get this yellow bar at the top of your spreadsheet when you open it, make sure you click on ‘Enable 
Editing’. 

 

Once our spreadsheet is ready, there is one more thing to note. We always use the median when calculating 
pay. That is because it gives us a better idea of reality.  

 

 

 

 

 

Mean v median 

The mean of 1 + 1 + 1 + 2 + 20 = 5. This is what most people think of as the 
average. Add up all the numbers and divide by however many numbers there 
are. 

The median of 1 + 1 + 1 + 2 + 20 = 1. This is taking the middle number as the 
average. It’s generally much more reflective of what most people experience. 

While both of these refer to the average, the mean is often skewed by a few 
big numbers. That is why we prefer to use the median. 
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OK, so we’re finally ready to find some data. We will use both of the ‘female’ tables. 

 

As with all ONS data, the regions appear in the same order. Data starts with the big picture for the UK, 
followed by the English regions, before Wales, then Scotland, and finally Northern Ireland. 

 

Because the data for childcare costs is only at the regional/national level, we should only use earnings at that 
level too. 

 

 

 

 

Note: sometimes the data is missing at a lower 
level. Consider Sefton, for example. You can 
find full-time earnings for that local authority, 
but not part-time earnings. That’s because the 
survey that is used to get this data doesn’t 
have enough information at the lower level. 
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Let’s find the information about Great Britain again. 

 

Remember that we need to use the median, so the figure for full-time earnings is £28,021. 

 

And for part-time earnings, £11,324. 

 

 

 

What are the average earnings in your region/nation? Remember to use the median! 

F/T  

P/T  

 

 

 

 

 

 

 

Now we have costs and earnings, let’s calculate affordability… 

  

Earnings v income 

Note: earnings are before any 
deductions are made.  
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Affordability 

 

We need to calculate a percentage, so we can use the equation 𝑥𝑥 ÷ 𝑦𝑦 × 100 = % 

Or costs ÷ earnings × 100 

 

 

 

 

 

So, for part-time affordability, our costs were £7,160. The earnings were £11,324. 

7160 ÷ 11324 × 100 = 𝟔𝟔𝟔𝟔% 

That means that part-time childcare costs absorb nearly two thirds of women’s average earnings in Great 
Britain. 

 

And for full-time, we can do the same calculation. Costs were £13718 and earnings were £28,021 

13718 ÷ 28021 × 100 = 𝟒𝟒𝟒𝟒% 

Full-time childcare costs absorb almost half the average earnings of women in Great Britain. 

 

 

 

 

Childcare costs for Northern Ireland can be found here. Page 35 onwards contain information on costs. 

Note: This survey is slightly different as it relies on answers from parents rather than local authorities (as in 
Coram’s survey). There is more information available about the costs in different local areas of Northern 
Ireland, but this level of detail is not available in the Annual Survey of Hours and Earnings. We, therefore, 
recommend that affordability calculations are kept at the national level. 

 

Overall, the regional variations between Great Britain and Northern Ireland are very clear in this data. We 
would encourage you to find out more about the cost of childcare in your local area. Data gaps show where 
we need to do more work. We hope the Local Data Project inspires you to get involved in uncovering data 
gaps! 

TOP TIP 

Or we can use a percentage 
calculator like the one here. 

https://www.employersforchildcare.org/report/northern-ireland-childcare-survey-2020/
https://percentagecalculator.net/
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